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Warning and Disclaimer

Every effort has been made to make this book as complete and as accurate as possible, but no warranty or fitness is implied.  The information provided is on an "as is" basis.  The author and the publisher shall have neither liability nor responsibility to any person or entity with respect to any loss or damages arising from the information contained in this book or from the use of the CD or programs accompanying it.

When reviewing corrections always check the print number of your book.  Corrections are made to printed books with each subsequent printing.

First Printing: December 2007

Corrections for all Printings
1st Printing

Chapter 1, page 62, Summary of TCP/IP’s Internet Layer

Line reads:
“DCHP assigns IP addresses and parameters to host devices 
automatically.”


Should read:
  “DHCP assigns IP addresses and parameters to host devices 
automatically.”

Chapter 1, Page 74, Step 2


Reads:
“Host A to Host B SYN, ACK:…..”


Should read:
“Host B to Host A SYN, ACK:…”


Chapter 1, Page 75, Figure 1-49

At top right of figure reads: 
(seq=101 ctl=SYN)


Should read:

(seq=100 ctl=SYN)

Chapter 1, Page 78, Paragraph 5, Fourth Sentence

Reads:
“The sender resends packet 2 and also sends the next 1-byte packet, but still specifies its window size of 3.”

Should Read:
“The sender resends packet 3 and also resends the next 1-byte packet, but still specifies its window size of 3.”

Chapter 1, Page 125, Question 1
Answer given:
A,B,C

Should be:
B,C,E

Chapter 1, Page 125, Question 2
Answer given:
A

Should be:
C,E
Chapter 1, Page 125, Question 3
Answer given:
C


Should be:
D

Chapter 1, Page 126, Question 4


Answer given:
D


Should be:
C

Chapter 1, Page 127, Question 8


Answer given: 
D


Should be:
B
Chapter 1, Page 127, Question 8-b

Reads:
“b. There are two primary categories of physical topologies: bus 
and star.”


Should read: “b. There are three primary categories of physical topologies: 
bus, ring and star.”

Chapter 1, Page 131, Question 22


Reads:
“Which area of the OSI model and the TCP/IP stack is most 
diverse?”

Should read:  “Which layer of the TCP/IP stack maps directly to the OSI stack?”
Chapter 1, Page 132, Question 27
Answer given:
A,B

Should be:
A,B,C

Chapter 2, Page 196, Question 4, multiple answer ‘b’


Reads:
Bridge


Should read:
 Switch

Chapter 2, Page 197, Question 6


All ‘bridge(s)’ should be changed to ‘Switch(es)’
Chapter 2, Page 197, Question 7


Reads:
Which of the following are major benefits of adding a bridge to 


a network?

Should read:
  Which of the following are major benefits of adding a switch to a network?

Chapter 2, Page 199, Question 17


Answer given:
B


Should be:
C

Chapter 2, Page 201, Question 23

Answer given:
A, B, C


Should be:

C, A, B

Chapter 4, Page 238, Figure 4-1


Reads:  
“Cisco 28000 Series Router”


Should read:  

“Cisco 2800 Series Router”
Chapter 4, Page 334, Question 17


Answer reads:
110001019


Should read:
11000101
Chapter 4, Page 342, Question 58
Reads:
“Which command can be used to see whether an address in the DHCP pool is already in use by another device?”

Should read:
“Which command can be used to see whether an address in the DCHP pool is being used by multiple devices?”

Chapter 5, Page 373, First Sentence


Reads:
“You can verify the NAT and PAT configuration with the command show ip nat translation.”


Should read:
“You can verify the NAT and PAT configuration with the command show ip nat translations.”
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